PAP LOCK
ASSEMBLY & INSTALLATION

| --
PortaPivot s STEALTHPIVIST

I—/‘,\I : = 7N ! ol By PortaPivot



Detach all the plastic
parts from each other.

PAP LOCK PARTS
1 X LOCK BOLT
2 X M4X10
1 X M5X45
1 X M5X60
1 X PAP-SLA-SET

1 X PAP-SLC-SET

1 X PAP-SLB-SET




PAP LOCK ASSEMBLY

(IF YOU WANT TO USE SLIDING LOCK
ON BOTH SIDES OF THE DOOR PANEL,
USE M5X60MM)




ROTARY LOCK INSTALLATION

&~ LOCK BOLT UP
q = ROTARY LOCK

M4X10

SLIDING LOCK INSTALLATION

‘\$

LOCK BOLT DOWN
= SLIDING LOCK

M4X10



LOCK COVER INSTALLATION

o

Carefully snap cover
plate* in place

SLIDING LOCK PLATE PRIVATE PLATE

ROTARY LOCK PLATE

Mount on 1 side of the
door panel in combination
with sliding or turning
lock plate

Can be mounted on both

Can be mounted on both
sides of the door panel

sides of the door panel




ROTARY LOCK OPERATION

SLIDING LOCK OPERATION

lo\ la -




DOOR JAMB LOCK BOLT RECEIVER

Install the door jamb rubbers Click the lock bolt receiver in place

above and below the cutout

OPENING UP
= ROTARY LOCK

OPENING DOWN
= TURNING LOCK




LOCK & DOORHANDLE COMBINATIONS

L

LIl

0

DG.08/11/12
HORIZONTAL
ON GLASS

DG.08/11/12
VERTICAL
ON FRAME

DG.10
500/750/1130/DOORHIGH
ON GLASS

DG.10
500/750/1130/DOORHIGH
ON FRAME

UGP
750/1130/DOORHIGH
ON GLASS

UGP
750/1130/DOORHIGH
ON FRAME

—f-

5730
WITH LOCK

YES

NO

YES

NO

YES |

NO

LI H
L H

5730
WITHOUT LOCK

YES

YES

YES

YES

YES

YES



For instructions on how to install

the fully assembled door in your doorway,
please refer to the DOOR INSTALLATION MANUAL



